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1. How does the U.S. Constitution conform to John Locke’s social contract Theory?

A. Citizens transfer some rights to government in exchange for social order
B. States retain all the power 
C. People agree to a social system guided by conscience

2. Why was the Electoral College created?


3. Which would be the most effective argument Anti-Federalists might have used to justify their position during ratification debates?

A. Average citizens cannot be trusted to control the complicated aspects of government.
B. The state governments and the national government should share power equally.
C. The national government needs final say when conflict occurs between federal and state governments.
D. To protect individual liberties, limits must be placed on the power of the federal government.
